[dy:- 2irsd girel :- 7 SEM -1

VIS :- 3 PISTH 25 marks
[AUIRATG] GIIH:-.....cvooeereerereererrassssassessssssssssessssssssssssssssssssssssssssssssssssssses
1. GEIeRRI YIGI dISAR Yol 53 : 8 marks
Example: q&ﬁ .......................................... T3 fd
.......................................... Sufa=ifa =1 (@, 9&)
Answer: U&ﬁﬂjﬂﬁﬁﬁﬁ?ﬂmﬁﬂl
L 1 B ceeeeeeecrceeeeeesssessesesessens TS fd
.......................................... Sufa=ifa =1 (=T, M)
>
Td 2. AP e TS fd
.......................................... Sufazrfa = (@rafay, 3ma<)
>
Yy 3 UET:  covrevreereerereereesseessessessessessens TS fd
.......................................... Sufawrfa o @R, &RIM)
>
T4 4 REE ee TS fd
.......................................... Sufa=rfa 91 @, garaa)
2. GEleRRI Y6 dISARR Yol 53 : 4 marks
GEIGRCE- T&MT oottt eeaeeane 3refdl (BR)
Answer: gaft 1R8I 3refd|
1. TUED: e, B ([8)
>
TH 2. YT eevrerrereerenerersesnesnesessessesenes YAfd| (@)

>



TH 3. W cverenrerererererrereesensessesennens TBfdl (TR)
>

TH 4 TTY: covererererererenneernesereseseseeanens fagfal @)

>

3.UIs il [GuadRdall A1HIR Yslicll BdIGI Euil: 10 marks
vy 1. ught f& agfar

>

uy 2. yeht a9 o7 Iufa=ifar

>

Y 3. &I 3AY: F: KT

>

vy 4. BM: fd agfar

>

WY 5. T-q¥: U&i $F RIS fa?

>

a.J1sHi2il (51 1181Rd 2I6€i 2litilal viid] AUIRAIMI @uli: 3 marks

Example :Geleel  : TSf,




